2016 paper 2 Q’s 1, 3,4.

(25 marks)
points A(6, =2), B(S, 3) and ((-3, 4) are shown on the diagram. g; /0
Find the equation of the line through .
B which is perpendicular to AC. 61
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Question 3 _ (25 marks)

(a) Show that % = cot 3A. ( .-(x'.mf.r‘@ &?%‘m 7{) fz? / §>
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(b) Given that cos26 = 3, find cosf in the form + %, whered,b€N. @ 3 T ¥ /< (70
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/Q-uﬂou (1 es oS
The diagram shows a semi-circle standing on a diameter [AC], and [BD] L [AC].

(a) (1) Prove that the triangles 48D and DBC are similar.

kngp| = |4cgol =
Gt korsl= x! A O O

hdADC ,;cha F0-%" sinc lznoc] 907 Semicircds
un U an ]lﬂDBI =904 ] ]
Mr‘f >3 aph cpat > S

(i) IfIABI-x |BC| = 1, and |BD| = y, write y in terms of x.




(b) Useyomrunu&mpm(a)(ﬂ)lomnlinesegmemeqmlinlmgth(inccmim)
to the square root of the length of the line segment [TU] which is drawn below —
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